2 TVWM5430BK N
INSTALLATION MANUAL

max.30kg

M-F (x4)
M-G (x4)

M-H(x8)

H(x1)

(/s (o | (| —
M5x14 (x4) M6x14 (x4) M8x20 (x4) M6x30 (x4)
M-A M-B M-C M-D
{ M © © 0 ‘B
M8x30 (x4) D5(x4) D8(x4) (x8) (x4)

M-E M-F M-G M-H M-1

W-C(x3)

D(x1) E(x1) F(x1) G(x8) H(x1) J(x1) W-A(x3) W-B(x3)







	页 1
	页 2

